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1) A package of mass m is placed nside a
drum that rotates in the vertical plane at a
constant angular speed of ¢ = 1.30 rad/s

If the package reaches the position 0 =
45¢ Defore slipping, determine the st e
coeflicient of friction between the package

and the drum.
Draw the necessary free body diagram(s) and
clearly label yonr coordinate system(s).
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2) The clevator shown starts from rest and

moves upward with a constant acceleration. ‘ ‘ g
If the counterweight W moves through 30 /1 l l
in 5 s, determine (a) the acceleration of the S e ) rté’

clovator and the acceleration of point ¢, (b)
the velocity of the elevator after 5
Clearly label your coordinate system(s).
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Dynamics

( Exa mination

First
) The 5 k0 collar has a velocity of 5 m/s
to the right when it is at A. It travels
Jown along the smooth guide.  Determine
the gpeed of the collar when it reaches point — 200 mm —
B, which 1s located just before the end of the
curved portion of the rod. The spring has an
unstrteched length of 100 mm. Also, find the
pormal force acting on the collar at point B.
Draw the necessary free body diagram(s) and
clearly label your coordinate system(s).
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